









	Large Pulse: Large pulse = 3 mS
	Medium Pulse: Medium Pule = 600 uS
	Small Pulse: Small pulse = 360 uS
	Pulses: 1 Large Pulse
	Pulses 2: 4 Medium Pulses
	Pulses3: 14 Small Pulses
	Pulses4: 19 Total Pulses
	100 mS Pulse Train: 98 mS Pulse Train
	Total: 1 Large Pulse               =               1 * 3 mS    = 3 mS
	Total2: 4 Medium Pulses          =               4 * 600 uS = 2.4 mS
	Total3: 14 Small Pulses            =             14 * 360 uS = 5.04 mS
	Total4: 10.44 mS on-time / 98 mS = 10.65 % Duty Cycle
	Total on Time: 


